MINIMUM MEAN CYCLE ALGORITHM
Input: A digraph G, weights ¢ : E(G) — R.

Output: A circuit C with minimum mean weight or the information that G is
acyclic.

@O Addto G avertex s and edges (s, x) with c((s, x)) := O for all x € V(G).
@ Setn := |V(G)|, Fo(s) := 0, and Fy(x) := oo forall x € V(G) \ {s5}.

® Fork :=1tondo:
For all x € V(G) do:
Set F(x) := oo.
For all (w, x) € §(x) do:
If Fr—y(w) + c((w, x)) < Fr(x) then:
Set Fr(x) := Fr—1(w) + c((w, x)) and pg(x) := w.
If F,(x) = ocoforall x € V(G) then stop (G is acyclic).

Fu(x) — F,

Let x be a vertex for which  max Fu(x) — Fie(x)
0<k<n—1 n—k
Fr(x)<o0

®

is minimum.

©

®  Let C be any circuit in the edge progression given by
s = p1(p2(--(Pn(x)) =), Pa—1(Pn (X)), pn (), x.
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